Example 

A producer of consumer goods wants to analyse its product range. The goal of this analysis is to evaluate which product is of particular importance and which products are less important. The management has decided to use the annual consumption value as the key figure to assess the product range. An ABC analysis shall be conducted.

Therefore we have to collect the raw data first:

	Product
	annual consumption
(in units per item)
	Price per unit
	annual consumption value

	1
	1.480
	6,10 
	9.028,00 

	2
	1.680
	0,15 
	252,00 

	3
	10.120
	0,20 
	2.024,00 

	4
	3.520
	0,40 
	1.408,00 

	5
	3.830
	9,50 
	36.385,00 

	6
	4.368
	0,25 
	1.092,00 

	7
	4.180
	0,45 
	1.881,00 

	8
	3.590
	0,90 
	3.231,00 

	9
	4.820
	0,70 
	3.374,00 

	10
	6.000
	0,02 
	120,00 

	11
	1.900
	1,01 
	1.919,00 

	12
	2.980
	4,20 
	12.516,00 

	13
	1.050
	0,30 
	315,00 

	14
	1.100
	0,44 
	484,00 

	15
	710
	31,60 
	22.436,00 

	16
	4.700
	0,38 
	1.786,00 


After that we order the raw data in decreasing order regarding the annual consumption value and calculate the ratio of annual consumption and the ratio of annual consumption value and cumulate it. We can use the classification proposed above to classify the goods into A, B and C products.

	Product
	Annual consumption
(in units per item)
	Price per unit
	Annual consumption value
	Cumulative ratio of annual consumption [%]
	Cumulative ratio of consumption value [%]
	Product group

	5
	3.830
	9,50 
	36.385,00 
	6,84%
	37,03%
	A

	15
	710
	31,60 
	22.436,00 
	8,10%
	59,87%
	

	12
	2.980
	4,20 
	12.516,00 
	13,42%
	72,61%
	

	1
	1.480
	6,10 
	9.028,00 
	16,06%
	81,80%
	

	9
	4.820
	0,70 
	3.374,00 
	24,67%
	85,23%
	B

	8
	3.590
	0,90 
	3.231,00 
	31,07%
	88,52%
	

	3
	10.120
	0,20 
	2.024,00 
	49,14%
	90,58%
	

	11
	1.900
	1,01 
	1.919,00 
	52,53%
	92,53%
	

	7
	4.180
	0,45 
	1.881,00 
	59,99%
	94,45%
	

	16
	4.700
	0,38 
	1.786,00 
	68,38%
	96,26%
	C

	4
	3.520
	0,40 
	1.408,00 
	74,66%
	97,70%
	

	6
	4.368
	0,25 
	1.092,00 
	82,46%
	98,81%
	

	14
	1.100
	0,44 
	484,00 
	84,42%
	99,30%
	

	13
	1.050
	0,30 
	315,00 
	86,29%
	99,62%
	

	2
	1.680
	0,15 
	252,00 
	89,29%
	99,88%
	

	10
	6.000
	0,02 
	120,00 
	100,00%
	100,00%
	


 

